M VALTORC INTERNATIONAL

VALTORC/A S A F1929F, BEED
MNFEENEATMN, E70FEMHKMA
BidiEd, VALTORC/ASIIALE N TFixH
B SRURAE N L. £-NEE,
HMERN -tk 1. RETEN~
RENRZENEERSARFEETE
KEIME, HAVALTORCERET BIFME
%, BAEIVALTORCASIM~=RmAMNEE R
BETIK, AEKAFPRERHENRN ST
TEEMBATER,

VALTORCHEE~REMNRITEHN
FEREE, ERIPATHE, |iE. BEAFX
W, WNEKIE. M. VEIIRE . KRMAK
BIXNRERDIART—EHNSETHR
7o

BrR L @AESN, VALTORCIE TR
BARSETITRITNEFSHRM R, 5
HRERNEI], IKEE. 854, WiH
WAREMESHRE NSRRI

VALTORCHHI FF AR K = mEE i
NATAEH. kT, RAK. 4. B
BHHEZN T T,

VALTORC/A ) et py 4 W B IR IE 2 0
BEHEMFZRAEBAERIERNB = MR
BN R EEEHET ABEFHE K,

Performance Not Promises

€ &

VALTORC www.CV3000.com



VALTORC is Founded in 1929.
In the 70 years, VALTORC
has become the standard for
excellence in the field of valve and
damper automation for the ail, gas,
power, water and waste treatment
industries around the world. As
established leaders in actuation
technology, we owe our success
to a commitment to quality at
every stage, and at every level, of
VALTORC operations.

VALTORC mainly engages in
developing automatic control
valve of high technology and
quality and special materials. Its
products include control valves
and on-off valves in pneumatically
or electrically driven mode, ball
valves, butterfly valves, V-type
ball valves, lining valves and
other valves combining on-off
and control.

Besides conventional valves,
VALTORC can design and
produce the valves of special
material or requirements such as
titanium alloy, nickel alloy, duplex
steel and other special alloy.

Advanced business management
concept and professional team
ensure high quality of product,
punctual delivery and satisfaction
of users.

H 5% [Contents M

455 1) UM-8203R ZEEF B ... 04
UM-—810F4F B4 BRI ..o 06
UM-9208F Z E ..., 08

BRI UM=520KZBRIT ..o, 10
UM-S510VELRTERIR ..o 12
UM-320= A FEKHE ..., 14

EHE UM VoSEERIATNE 16

I i UM-610 =N BB FARBD. ... 18

Butterfly Valve  Soft Sealed Butterfly Valve ......... 04

Lined Butterfly Valve.................. 06
Three Eccentric Butterfly Valve .. 08
Ball Valve Flanged Ball Valve...................... 10
V-type Ball Valve ...................... 12
Three Pieces Ball Valve.............. 14
Control Valve  Diaphragm Control Valve............ 16

Gate Valve

Pneumatic/Electric Ball Valve ..... 18

www.CV3000.com

VALTORC

3



M UM-820%K 7 £} 1 (8] /Soft Sealed Butterfly Valve

7= A r—
™ THS | RY | WEHE | WEHE g | JEEDR
> Order No. [ Size |Body material [ Plated material | Valve seat Connection

e i&7% DN50-1200 ' v Style

° )\:Ejj \P'\_\IJO_PNM_ANSl CLASS125/150 UM-820 | 2"-48"| Ductile Iron | D-Iron coated nylon | EPDM/NBR Wafer

e jE5A= PN10-PN16
ANSI| CLASS125/150 UM-821 | 2"-48"| Ductile Iron SS EPDM/NBR Wafer

° ﬁ%ﬁﬁu X;f EZ BN ENEE UM-822 |2'-48" | Ductielron | Ductilelron | EPDM/NBR|  Wafer

rigiN In= - -

o AR BEE. HEHK, FHEW UM-823 |2"-48" | Ductile Iron Ductile Iron | EPDM/NBR Wafer

o ikt Hl: IRHKERBE. BREABE. UM-824 | 2"-48"| Ductile Iron |D-lroncoated nylon|  PTFE Wafer
M mE UM-823 | 2"-48" | Ductile Iron SS PTFE Flanged

o ZMKE. 1ISO5752 EN558-1 API609
GB12221-89 UM-825 | 2"-48" | Ductile Iron Ductile Iron PTFE Flanged

° @Uﬁﬁﬁé‘ GB12238tr A UM-826 | 2"-48" [ Ductile Iron Ductile Iron PTFE Flanged

o B TMIXRYE 1SO 5208 —— :

1) EEE, 1.1xPN UM-827 | 2"-48" | Aluminum Alloy SS EPDM/NBR Flanged
2) BEmRE A 1.5xPN

o THMHNETERE. Manual/worm gear: “W” ; Electric on-off: “J” ; Electric contact: “K” ;

° ET_EZJET%HST EPDM: -35~+135%C Electric intelligent: “Z” Pneumatic Double: “D” ; Pneumatic Single: “S”

o THERIINBR: -25~+90°C behind the “UM”

o BNFZIHPTFE: —40~+200C

o FURAFPM: -29~+205°C

Valve Specific Information:

Size: DN50-1200
PN10-PN16-ANSI CLASS125/150
VPN10-[M16 ANSI CLASS125/150
Suitable flange: PN10-PN16
VConnected style: Wafer, More hole—wafer,
Flanged single-flanged, double-flanged
Body material: Aluminum alloyed,
Ductile iron

Valve plate material: Ductile iron
nylon coated, Ductile iron—zinc
plated, Al bronze

Construction ISO5752 EN558—-1 AP1609
GB12221-89

Design standard:GB12238
Inspection standard: ISO 5208
Inspection standard:

1) Density 1.1 x PN

2) Body bearing pressure:1.5 x PN
Seal material and working temperature
EPDM:-35~+135%C,

NBR: —-25~+90°C,
PTFE:-40~+200C,

FPM:-29~+205°C

4  VALTORC
www.CV3000.com



UM-820%k 2 £ i i /Soft Sealed Butterfly Valve M

Flanged
DN RY (mm) Size
H H1 L D1 n-¢D
40 218 113 93 110 4-d19
50 246 124 108 125 4-d20
65 258 134 112 145 4-$20
80 276 141 14 160 8- 22
100 303 156 127 180 8- 20
125 355 168 140 210 8- 20
150 371 184 140 240 8- 23
200 412 205 152 295 8- 23
250 461 235 165 350 12-$ 23
300 550 280 178 400 12-$ 23
350 638 368 190 460 16— 23
400 692 397 216 515 16— 27
500 778 430 229 620 20-p 27
600 880 500 267 725 20- 31
WFRTHEMR Y, EREEE,
If need other size valve,please contact us.

Wafer
oL RY (mm) Size
L D1 D2 H H2 N°—pH

50 43 52.6 142 80 4x18

65 46 64.4 125 155 89 4x18

80 46 78.9 145 161 95 4x18
100 52 104.1 160 180 N4 4x18
125 56 123.4 180 193 127 4x18
150 56 155.9 210 205 139 4x23
200 60 202.8 240 250 175 4x23
250 68 250.8 295 282 203 4x23
300 78 301.9 350 326 242 4x23
350 78 334 400 358 267 4x23
400 102/88 390 460 380 301 4x27
450 114/107 441 515 422 381 4x27
500 127 492 565 479 387 4x27
600 154 593 620 562 457 4x27
700 165 694 725 629 527 4x 30
750 165 744 840 650 530 4 x 30
800 190 795 950 666 594 4x 30
900 200 864 1050 722 653 4 x 30
1000 216 964 1160 800 718 4 %33
1200 216 1160 941 844 4x36

H1

N°-bH

=

H1

0\

=

VALTORC 5
www.CV3000.com



[T um-s1omssmstiLned Buterfy Valve

7= L e ‘ \ \ et
s | RY AR AR 53] EELN
e R~} DN50-600 Order No. | Size Body material Plated material Valve seat | Connection Style
e TEES PN16. 25, 40
ANSI CLASS125/150/300 UM-810 [ 2"-24" | Ductile Cast Iron | Ductile Iron Nylon | EPDM/NBR Wafer
e EIEAX. JB/T74-90
GB9113.19113.26ANSIB16.10 UM-3811 2"-24" | Ductile Cast Iron Stainless steel EPDM/NBR Wafer
o AW, Xk, KL, ‘ .
o MEMEL. TEN. BN UM-812 | 2"-24" | Ductile Cast Iron | Ductile Iron panel | EPDM/NBR Wafer
o BIRAIRL: REFEW. BN , _
o 3 E#EL. PTFE/EPDM/FEP/ UM-813 | 2"-24" | Ductile Cast Iron | Aluminum Bronze | EPDM/NBR Wafer
NBR/VITON etc ] i
o WIS, JB/T8S27 UM-814 | 2"-24" | Ductile Cast Iron | Ductile Iron Nylon PTFE Wafer
APIB09 GB121238 UM-815 [ 2"-24" | Ductile Cast | Stainl teel PTFE Waf
o HWBARE. GB/T13927 - - uctile Cast Iron ainless steel afer
AP1598 W ogw ) .
UM-816 | 2"-24" | Ductile Cast Iron | Ductile Iron panel PTFE Wafer
UM-817 | 2"-24" | Ductile Cast Iron | Aluminum Bronze PTFE Wafer
UM-818 [ 2"-24" | Aluminum Alloy Stainless steel EPDM/NBR Wafer
Manual/worm gear: “W” ; Electric on-off: “J” ; Electric contact: “K” ; Electric

intelligent: “Z” Pneumatic Double:

Valve Specific Information:

Size: DN50-600
Working Pressure:PN16. 25, 40
ANSI CLASS 125/150/300
Connecting Flanged:JB/T74
-90 GB9113.1-9113.26
ANSIB16.10
End connection:Wafer. Flanged
® Body Material:CF8/CF8M/
Carbon Steel
® Disc Material:Stainless steel.
Carbon steel
® | ined Material:PTFE/EPDM/FEP/NBR/VITON etc
® Designed standard:JB/T8527 API609
GB121238
® Testing and Inspecting: GB/T13927
AP1598

6 VALTORC
www.CV3000.com

“D” ; Pneumatic Single:

“S” ; behind the “UM”



UM-810F Bt 4 /Lined Butterfly Valve m

H3 PN1.OMPa PN1.6MPa ANSI150
-~ -

o o WiThOL?TE E:fctj’wheel with r?jszwheel MRS R Il I I R R
DN50 | 43 |140( 78 32(5) i?g :233(2) ]];75 ;922 98 | 125 4-18 | 98 | 125 | 4-18 | 98 [ 120.5 | 4-18
DN65 | 46 (152 83 gzg :;Z 332 ::2(5) ;;g 16 | 145 4-18 | 116 | 145 | 4-18 | 116 [ 139.5 | 4-18
DN80 | 46 |159( 92 gig 322 :;(7)§ 12(5) ;;2 127 {160 | 8-18 [ 127 [ 160 | 8-18 | 127 | 152.5 | 8-18
DNI100 | 52 |178 | 106 :;32 222 2(7)§ 12(5) §§§ 154 {180 | 8-18 [ 154 [ 180 | 8-18 [ 154 [ 190.5 | 8-18
DNI125 | 56 1190|123 228 222 ;13(2) 22‘]‘% 223 186 {210 | 8-18 {186 | 210 | 8-18 [ 186 | 216 | 8-18
DN150 | 56 1203|136 ggg :82 23(2) 223‘(()) ;gg 212 {240 | 8-22 | 212 | 240 | 8-22 | 212 | 241.5 | 8-22
DN200 | 60 1238|165 ggg 2(7)2 ggg Z;g 23:73 265 (295 8-22 [265(295| 8-22 [ 265 298.5 | 8-22
DN250| 68 |268(198 :gg 2(7)2 ggg ;47‘8 ;3? 332 (350(12-12 | 332 (355|12-26 332 | 362 |12-26
DN300 | 78 |306(229 228 2;2 23(2) ;;g g;; 376 {400 | 12-12 | 376 | 410 | 12-26 [ 376 | 432 |12-26
DN350| 78 |330(275 228 2;2 22(2) g;g 2;; 422 1460 [ 16-12 [ 422 | 470 | 16-26 | 422 | 476 |12-26
DN400 | 102 |360(320 540 674 590| 270 | 277 | 480 | 515 [16-26 480 | 525 |16-30| 480 | 540 [16-30
DN450 | 114 1390|340 :lg ;;‘g 2:: ;;g ;;; 538 | 565 |20-26| 538 | 585 |20-30( 538 | 578 |20-30
DN500 | 127 1430362 Zl(; ;;13 Zzg g;g Z;Z 590 { 620 |20-26| 590 | 650 |20-33[ 590 | 635 |20-33
DN600 | 154 1470380 ?gg ;;z 833 ?15232 ;;; 680 | 725 120-30| 680 | 770 |20-36 | 680 | 749.5 | 20-36

A
Limit Switch
Penumatic Actuator G =
o o ™

VALTORC 7
www.CV3000.com



M UM-920%F 7% 1 i i#)/Three Eccentric Butterfly Valve

7= AR HE :

e 72 DN50-2000
e )1 PN16. 25. 40-ANSI
CLASS125/150/300
TR JB/T74-90
GB9113.1-9113.26 ANSIB16.10
EEAN: A=
BEHRL REWN. )N,
BRI AEW. RN
2K E. ANSIB16.10
GB12221
@IS JB/18527
API609 GB121238
o HIFILI. GB/T13927
AP1598

Valve Specific Information

e Size:DN50-DN2000

CLASS 125/150/300

End connection:Flanged

GB121238

e Testing and Inspecting:GB/T13927 AP1598

8 VALTORC
www.CV3000.com

1T55S R AR RARAA T 53] EELT
Order No. Size Body material | Plated material | Valve seat | Connection Style
UM-920 2"-80" Carbon Steel Carbon Steel SS Wafer
UM-921 2"-80" Carbon Steel Carbon Steel SS Wafer
UM-922 2"-80" SS SS SS Wafer
Manual/worm gear: “W” ; Electric on-off: “J” ; Electric contact: “K” ; Electric

intelligent: “Z” Pneumatic Double:

Working Pressure:PN16 25 40 ANSI

Connecting Flanged:JB/T74-90
GB9113.1-9113.26 ANSIB16.10

Body Material: CF8/CF8M/Carbon Steel
Disc Material:Stainless sreel. Carbon Stee
Face to Fac:ANSIB16.10 GB12221

Designed standard:JB/T8527 AP1609

“D” ; Pneumatic Single:

“S” ; behind the “UM”




UM-920%F % £ 1 8 /Three Eccentric Butterfly Valve m

FERY (mm ) Size

L Rsize 1.0MPa 1.6MPa Rtsize 2.5MPa 4.0MPa

L H DI n-&d | DI n-dd L H DI n-od DI n-dd
50 108 245 125 418 125 4-18 108 245 125 418 125 418
65 2 285 145 418 145 418 2 265 145 8-18 145 8-18
80 im 350 160 418 160 8-18 14 350 160 8-18 160 8-18
100 127 380 180 418 180 8-18 127 380 190 8-22 190 8-22
125 140 410 210 822 | 210 8-18 140 410 220 | 8-26 | 220 | 8-26
150 140 490 240 | 8-22 | 240 | 8-22 140 490 250 | 8-26 | 250 | 8-26
200 152 560 295 | 12-22 | 295 | 12-22 | 152 560 310 8-26 | 320 | 12-30
250 165 620 350 | 12-22 | 355 | 12-26 | 165 620 370 | 12-30 | 385 | 12-33
300 178 573 400 | 16-22 | 410 | 16-26 | 178 653 430 | 16-30 | 450 | 16-33
350 190 620 460 | 16-26 | 470 | 16-26 | 190 730 490 | 16-33 | 510 | 16-36
400 218 695 515 | 2026 | 525 | 16-30 | 216 910 550 | 16-36 | 585 | 16-39
450 222 745 565 | 20-26 | 585 | 20-30 | 222 850 600 | 20-36 | 610 | 20-39
500 229 820 620 | 20-30 | 650 | 20-33 | 229 940 660 | 20-36 | 670 | 20-42
600 267 975 725 | 20-30 | 770 | 20-36 | 267 1150 770 | 20-39 | 795 | 20-48
700 292 1015 840 | 20-30 | 840 | 24-36 | 292 1195 875 | 24-42
800 318 178 950 | 24-33 | 950 | 24-39 | 318 1268 660 | 24-48
900 330 1320 | 1050 | 28-33 | 1050 | 28-39 | 330 1490 | 1090 | 28-48
1000 410 1805 N60 | 28-36 | 170 | 28-42 | 410 2010 | 1210 | 28-55

== A
© &®

@@
i
|

o e
|'_l r_lr |
"
n-¢d
rm_ >
- ali
//
L ‘
— |
L | ]

VALTORC 9
www.CV3000.com



M UM-5203% =2k i8/Flanged Ball Valve

FE L TR Rt AR AR R HREE EESR

Order No. Size Body material | Plated material [ Valve seat | Connection Style

o R~F: @fg1/2"~10" UM=520 | 1/2'~10" | Carbon steel 316 PTFE Flanged

(DN15~DN250) Um-521 | 1/2'~10" 304 316 PTFE Flanged
ISO521 1L {THIM T e 3 2R =

BB, D RE | | |
4% . WCB/CF8/CF8M Manual/worm gear: “W” ; Electric on-off: “J” ; Electric contact: “K” ; Electric
BRIK. SS316 intelligent: “Z” Pneumatic Double: “D” ; Pneumatic Single: “S” ; behind the “UM”
®4F: SS316

mHE: PTFE

EEAN A=

BITAPI607 R K IALE

BE=¥

SEIK/EEIK
BB R I
BRALFF X
SENLRR
SRN=B M

Valve Specific Information:

Full Port 1/2"~10" (DN15~DN250)
ISO 5211 ACTUATOR MOUNTING
Blow Out—proof stem design

Ball: Self-relief over pressure
Body: WCB/CF8/CF8M

Ball:SS316

Stem:SS316

Seat: PTFE

Options:

Certified to API 607 4th Edition
Actuator

Solenoid Valve

Limit Switch

Positioner

FR.Lr

10 VALTORC
www.CV3000.com



UM-5203% 2 Bk} [Flanged Ball Valve m

ANSI Standard

DN

150LBRY (mm) Size

L D1 D2 D3 D4 T H n-¢m
15 108 15 35 60.5 89 9.7 48 4-16
20 n7 20 43 70 98.6 10.5 53 4-16
25 127 25 51 79.2 108 1n.2 58.5 4-16
32 140 32 63.5 88.9 17 12.7 71 4-16
40 165 38 73.5 98.6 127 14.2 76 4-16
50 178 50 92 120.7 | 152.5 15.9 81 4-19
65 190 64 104.7 | 139.7 177.8 17.5 101.5 4-19
80 203 76 127 152.4 | 190.5 19.1 ms 4-19
100 229 100 157.2 | 190.5 | 228.6 | 23.9 140 8-19
125 356 125 186 216 254 24 193 8-22.3
150 394 150 216 2413 | 2794 | 254 204 8-22.3
200 457 200 270 298.5 | 3429 | 285 252 8-22.3
250 533 250 324 362 | 406.4 30 310 | 12-254
e
g
a|8|a|a

r-------

[ 111

VALTORC 11
www.CV3000.com



M UM-510 VESETHER /N —-type Pneumatic Ball Valve

PR R EES R WM HARM R HERE EEH

Order No. Size Body material | Plated material | Valve seat Connection Style
o XRABIE: 1/2"~10" UM=510 | 1/2'10" | Carbon steel 316 PTFE Flanged

(DN15~DN250) ETY

SRR, 1/27 {0 UM-5T1 1/2"~10 304 316 PTFE Flanged
(DN15~DN500)
ISO521 13 T4 M et 5 28 Manual/worm gear: “W” ; Electric on-off: “J” ; Electric contact: “K” ; Electric
bri@hsh, HEFBEIRE intelligent: “Z” Pneumatic Double: “D” : Pneumatic Single: “S” : behind the “UM”

4%, WCB/CF8/CF8M

Bk, SS316

i®@4F. SS316

Wi B, PTFE

EEAN: A Xk

=]

BE=¥

SEIK/EEIK
BRI
BRALFF X
EfI=F
SRN=BK

oW

Valve Specific Information:

Full Port 1/2"~10" (DN15~DN250)
ISO 5211 ACTUATOR MOUNTING
Blow Out—proof stem design

Ball: V-type

Body: WCB/CF8/CF8M

Ball:SS316

Stem:SS316

Seat: PTFE

Options:

1.Actuator
2.Solenoid Valve
3.Limit Switch

4 Positioner
5FR.Lr

12 VALTORC
www.CV3000.com



UM-510 VESFTEKE/V-type Pneumatic Ball Valve m

L L1
H H2
PN1.6 ANSI150 | PN1.6 ANSI150
DN H1 h A B C
PN4.0 ANSI300 [ PN4.0 ANSI300 Without With Without With
PN6.4 ANSI600 | PN6.4 ANSI600 handwheel | handwheel | handwheel | handwheel
DN25 102 57 126 | 6a 174 252 310 392 290 nz 190
183 280 335 428 302 155 225
174 252 310 392 290 nz 190
DN32 N4 64 135 | 64
183 280 335 428 302 155 225
183 280 335 428 302 155 225
DN40 114 64 185175 186 279 375 468 375 180 225
183 280 335 428 302 155 225
DN50 124 57 151 m
186 279 375 468 375 180 225
186 279 375 468 375 180 225
DN65 165 87 130 | 117
263 371 460 568 432 210 233
DNBO 165 87 10 | w7 186 279 375 468 375 180 225
263 371 460 568 432 210 233
263 371 460 568 432 210 233
DN100 194 92 141 | 133
290 398 500 608 500 240 233
DN125 256 109 164 | 151 290 398 500 608 500 240 233
420 544 590 724 590 270 277
420 544 590 724 590 270 277
DN150 229 n9 164 | 151
420 544 590 724 590 270 277
420 544 590 724 590 270 277
DN200 243 n9 232 | 184
490 624 610 744 592 290 277
514 648 595 729 698 325 277
2P 297 151 260 | 220 615 749 750 884 940 435 277
514 648 595 729 698 325 277
DN300 338 174 302 | 292
615 749 750 884 940 435 277
A
b=
=

VALTORC 13
www.CV3000.com



m UM=320 = HE BRI/ Three Pieces Ball Valve

-

LLES N

R~F: 1/4" ~4"(DN8~DN80)
brigdhs, PHEsBRE

SNEEE . ANSI B16.34 Class 300
M@k, CF8/CF8M

FR{Kk. SS316

&+F. SS316

ZEE. PTFE

TEEH: 1/4"~2" 1000ps]
2"~1/2"~3" 800psi

SEESEE. —201t0 450 °C

BE<F

SEIK/EBEIK
LA
BRALFF X
a4

Valve Specific Information:

Full Port 1/4"~4" (DN8~DN80)

Body: CF8/CF8M

Ball: SS316

Stem: SS316

Seat: PTFE

End Connections: Threaded End
Working Pressure:

1/4"~2" 1000psi

2"'~3” 800psi

Temperature range: —20 to 450°C

Options:

Actuator
Solenoid Valve
Limit Switch
Positioner

14 VALTORC

www.CV3000.com

Connection: Flanged;

EHS Ry HEHAHZ R IR TR E3]23 EELR
Order No. Size Body material | Plated material | Valve seat | Connection Style
UM-320 | 1/4"~4" 304 316 PTFE NPT
UM-321 | 1/4"~4" 316 316 PTFE NPT

Manual/worm gear: “W” ; Electric on—off: “J” ; Electric contact: “K” ; Electric

intelligent: “Z” Pneumatic Double:

Blow Out—proof stem, Anti—static design
Shell Wall Thickness: ANSI B16.34 Class 300

“D” ; Pneumatic Single:

“S” ; behind the “UM”




UM-320 =HFZ\EKi/Three Pieces Ball Valve M

JIS Standard:

Size (mm)
DN
L L1 L2 D1 D2 D3 D4 D5 D6 D7 H
8 75 70 * 10.6 14.2 10.6 18 * * * 42
10 75 70 * 12.7 17.8 12.7 18 * * * 42
15 75 75 130 15 21.8 15.8 22 45 65 95 42
20 80 90 150 20 27.3 20.9 28 58 75 105 49
25 90 100 160 25 34 26.7 34 68 85 ns5 58.5
32 10 10 180 32 42.8 35.1 43 78 100 140 63
40 120 125 200 38 48.9 40.9 50 88 10 150 71
50 140 150 230 50 61.4 52.5 61 102 125 165 78
65 185 190 290 63.5 74 62.7 76 122 145 185 100
80 205 220 310 76 90 78 92 138 160 200 109
100 240 270 350 100 Nn5.4 102.4 n5 162 190 235 140
If need manual valve, Please contact us .
F[g i -
— | 1 T
auVany
[\ z

. =
- 8_5: [}l_ —8 8
- b ‘“_I «d
Socket Welding Clamp-type
VALTORC 15

www.CV3000.com



M UM-V5 Szh#EpEIETR/VS  Diaphragm Contrlol Valve

7= AR :

R~ DN15~200

T{EES PN16. 40, 63

ANSI CLASS150/300/600
gL, JB/T74~86.2 GB/T9112
~9124 ANSI B16.1 B16.5 B16.24
EEAN: A=

&R, WCB/CF8/CF8M
iR, SS316 SS316L
TR, PTFE 45552 R AR

E R, PTFE ZMHHE

# R, FEINGRES. BARMN
BllE. BERE

o[ ECkE . FIRE. BIRENTE.
FRALFA. Efrss

Valve Specific Information

Size:DN50-DN2000

Working Pressure:PN16. 25, 40
ANSI CLASS 125/150/300
Connecting Flanged:JB/T74-90
GB9113.1-9113.26 ANSIB16.10
End connection:Flanged

Body Material: CF8/CF8M/Carbon
Steel

Disc Material:Stainless sreel. Carbon

Stee
Face to Fac:ANSIB16.10 GB12221

Designed standard:JB/T8527 AP1609

GB121238
Testing and Inspecting:GB/T13927
AP1598

16 VALTORC
www.CV3000.com

EHS | RY HEIHAHE R HRRAZ BT =R EELT
Order No. | Size Body material [Plated material Packing Connection Style
UM-50 | 1/2"~8" WCB SS316 PTFE /Flexible Graphite FLanged
UM-51 [ 1/2"~8" CF8 SS316 PTFE /Flexible Graphite FLanged
Um-52 | 1/2"~8" CF8 SS316L PTFE /Flexible Graphite FLanged
UM-53 | 1/2"~8" CF8M SS316L PTFE /Flexible Graphite FLanged
Manual/worm gear: “W” :; Electric on-off: “J” ; Electric contact: “K” ; Electric

intelligent: “Z” Pneumatic Double:

“D” ; Pneumatic Single:

“S” ; behind the “UM”




UM-V5 Szh#EfEIET /NS Diaphragm Contrlol Valve M

L H H2
PN1.6 PN4.0 PN6S | wem | o oN1L6 oNALO oNG.3
DN ANS| ANSI ANS| HI A
Normal Bellows ANSI 150 | ANSI 300 | ANSI 600
Ly 1o o1 type e JS30K | JIS 40K
JS10K | JIS30K | JIS 40K YP i JS10K
405 245
DN15 184 194 206 157 307 62 62 65
435 300
405 245
DN20 184 194 206 157 307 62 62 65
435 300
DN25 184 197 210 157 307 435 62 62 70 300
457 370
435 300
DN32 200 210 210 186 336 70 70 78
475 370
DN40 222 235 251 186 336 435 75 75 85 300
475 370
475 370
DN50 254 367 289 186 336 83 83 90
625 476
DN65 276 292 31 253 403 475 98 108 108 370
625 476
DN80 298 317 337 252 402 475 108 13 13 370
625 476
625 476
DN100 352 368 394 256 406 15 128 128
678 626
625 476
DN125 403 425 460 255 555 138 158 158
678 626
525 476
DN150 451 473 508 257 557 166 172 183
678 626
625 476
DN200 543 568 610 247 547 202 210 210
678 626

H1

il
ell

3

&
)

VALTORC 17
www.CV3000.com



M UM-610 S F1H8E a0 ERR/Pneumatic/Electric Gate Valve

= R :

o TIRFMMREHE, TAKREE
EHEEEY), BaiEkRAY.
o BANAFEMME, TBIILEIRE

Ao

o BEMKE, UPEER. RER
8, hAERZIFEERE,

o RIZHy FmHHER RIS, FL®
HLe2HN, EAmWH,

o =AEMNIEFERME, RIEFH
E:R Pkl N

o WIANRAFRITIRS RIAEE,

o REWIMITRAM A, WLIZEA
B E Ak

o rRERA.

JitHEsRE. JB/T8691; MSS SP-81
S ERE. GB/T15188.2:MSS SP-81
kO, GB/9113; ANSIB16.5
KR WHRE. GB/T13927; APl 598,

Valve of information:

® F[levate the seal side, eliminate substances

attached on the seal side.
® Satinless steel body of corrosion resistance
® Short structure length design saves material

and mounting space,and strengthens the tube

® The scientific design of upper seal stuffing
box makes the seal safe and durable in use.
® Triangular bracket design savesmaterial and

provides mechanical function in need.
e Stiffener strengthens the valve body

durable.
® Stainless steel rod,swifter openning and
closing by using studs.

® Standards:

Manufacturing Standard
structure Length Standards
Flange Connection Standards
Test & Inspection Standards

PN PNO.6 PN PNO.6 PN PNO.6
L (M xLxN) [B3L (M xLxN) L (M xLxN) [B5L (M xLxN) L (M xLxN) [B5L (M xLxN)
DN through hole Blind hole DN through hole Blind hole DN through hole Blind hole
60 MI2x 110 x 2 MI12x 45 x4 60 M16 x 125 x 2 M16 x 50 x 4 50 M16 x 125 x 2 M16 x 50 x 4
65 MI2x 110 x 2 MI12x 45 x4 65 M16 x 125 x 2 M16 x 50 x 4 65 M16 x 125 x 2 M16 x 50 x 4
80 M16 x 125 x 2 M16 x 125 x 2 80 M16 x 130 x 2 M16 x 55 x 4 80 M16 x 125 x 6 M16 x 50 x 4
100 M16 x 130 x 2 M16 x 130 x 2 100 M16 x 140 x 6 M16 x 55 x 4 100 M16 x 140 x 6 M16 x 55 x 4
125 M16 x 140 x 6 M16 x 140 x 6 125 M16 x 150 x 6 M16 x 60 x 4 125 M16 x 145 x 6 M16 x 55 x 4
150 M16 x 140 x 6 M16 x 140 x 6 150 M20 x 155 x 6 M20 x 60 x 4 150 M20 x 155 x 6 M20 x 60 x 4
200 M16 x 150 x 6 M16 x 150 x 6 200 M20 x 160 x 6 M20 x 65 x 4 200 M20 x 160 x 6 M20 x 60 x 8
250 M16 x 160 x 8 M16 x 160 x 8 250 M20x175%x 8 M20 x 65 x 8 250 M20x175%x 8 M22 x 65 x 8
300 M20x180x8 [ M20x180x 8 300 M20 x 185 x 8 M20 x 65 x 8 300 M20 x 190 x 8 M22 x 70 x 8
350 M20x180x8 [ M20x180x 8 350 M20x190x 10 | M20x 70 x 12 350 M20x190x 10 | M22x70x 12
400 M20 x 210 x 10 | M20 x 210 x 10 400 M22 x 220 x10 | M22 x 70 x 12 400 M27 x230%x10 | M27 x75x12
450 | M20x 225 x10 | M20 x 225 x 10 450 | M20x235x12 [ M22 x70x 16 450 | M27x250x12 | M27 x 85x 16
500 M20 x 240 x 10 | M20 x 240 x 10 500 M22 x 250 x 12 | M22 x 80 x 16 500 M30x270%x12 | M30x 85x16
600 M22 x 270 x 14 | M22 x 270 x 14 600 M27 x295%x12 | M27 x 85 x 16 600 M36 x 310 x12 | M36x 95 x 16
700 M22 x 290 x 14 | M22 x 290 x 14 700 M27 x315x 14 | M27 x 95 x 20 700 M36 x 325 x 14 | M36 x 100 x 20
800 M27 x 325 x 14 | M27 x 325 x 14 800 M30 x 350 x 14 | M30 x 100 x 20 800 M36 x 355 x14 | M36 x 105 x 20
900 M27 x 340 x 14 | M27 x 340 x 14 900 M30 x 370 x 16 | M30 x 105 x 24 900 M36 x 375x16 | M36 x 110 x 24
1000 | M27 x360x 16 | M27 x 360 x 16 1000 | M30x390x16 | M30 x 110 x 24 1000 | M42 x400x 16 | M42 x 115 x 24
2000 | M30x410x18 | M30x 410 x 18 2000 | M36 x450 %18 | M36 x 125 x 28 1200 | M48 x 460 x 18 | M48 x 130 x 28
18 VALTORC

www.CV3000.com




UM-610 S ahH ) ERR/Pneumatic/Electric Gate Valve m

DN L D DI D2 H N-M DO
50 43 160 125 100 320 4-M16 180
65 43 180 145 120 340 4-M16 180
80 46 195 160 135 380 4-M16 220
100 52 215 180 155 430 8-M16 220
125 56 245 210 185 500 8-M16 230
150 56 280 240 210 600 8-M20 280
200 60 335 295 265 720 8-M20 360
250 68 3690 350 320 840 12-M20 360
300 78 440 400 368 960 12-M20 400
350 78 500 460 428 1120 16-M20 400
400 102 565 515 482 1250 16-M22 400
450 14 615 565 532 1680 20-M22 530
500 127 670 620 585 1540 20-M22 530
600 154 780 725 685 1800 20-M27 600
DO
DO
L
=
L
b
1 11
; s, I
N-M =
D'-
Z-0d M

VALTORC 19
www.CV3000.com





